
A. Tick () the correct option. 
1. 5008 paise is equal to 

a. 5.008 
d. d. 50008 b.50.80 C.50.08 

2. Take away 5 paise trom 7 rupees, you g 
a. R6.95 

d. 735 b. 77.05 c. 7.55 

3. To find the value of one unit from the value of many, we 

a. add. b. subtract. c. multiply. d. divide 

B. Multiply.

1. 765.50 x3 
2. 106.30x 23 3 256.10 x 25 

C. Divide. 

1. 7377.60 16 2. 7536.40 18 3. 748.80+243 

D. Fill in the blanks. 

1. is the cost of a pen, if 10 pens cost 200. 

2. If 7 packets of biscuits cost56, the 5 packets will cost 

3. 12 pencils cost 56, then 2 dozen pencils cost 

4. 18 toffees cost 36, 9 toffees cost 
5. 1 Ljuice cost R60. The cost of 250 mL juice will be 

E. Solve these story sums. 

1. What will be the cost of 3 m cloth, if 20 m cloth costs R 2800? 

2. The bus fare of 9 adults is 1890. What amount will be paid as fare for 17 adults2 

3. Which is a better buy? 8 oranges for 120 or 6 oranges for 96. 
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